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PART A: TRUE/FALSE

1. (1 point)
A legal agreement between the firm issuing the bonds and the bond trustee who
represents the bondholders called as Bond Indenture.

2. (1 point)
Bond issuer is not obligated to pay coupon payment.

3. (1 point)
Medium-term has been described as having maturities of between one and seven years.

4. (1 point)
Zero-coupon bond is sold at premium price.

5. (1 point)
Preferred stock is hybrid of debt and equity attributes.

6. (1 point)
Par value preferred stock is RM1000.

7. (1 point)
Preferred stock has highest hierarchy claim on income and asset followed by bond and
common shares.

8. (1 point)
Preferred stock cannot be rated like bond.

9. (1 point)
There are 3 models of common shares valuation which are zero growth, constant growth
model and variable growth model.

10. (1 point)
Consumer goods and pharmaceutical shares are cyclical types of shares.

11. (1 point)
Fund that has no limit for capital and unit trust that can be traded is Open End Fund.
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(1 point)

Shariah advisor is not involved in Islamic Unit trust fund.

(1 point)

Time value of money will enable a financial manager to make a decision.

(1 point)

Compound interest occurs when interest paid on an investment is added to its principal
amount in each period.

(1 point)

An annuity is a series of unequal payments made for a specified period of time.
(1 point)

There are three basic types of annuities: ordinary annuity, annuity due, and
deferred annuity.

(1 point)

Annuity due is an annuity where the payment occurs at the end of each period.

(1 point)
Interest can be paid semi-annually, quarterly, monthly, weekly, and daily.

(1 point)
An annuity is applied in calculating monthly installment of car loan, housing loan and
also personal loan.

(1 point)
The future value allows financial managers to estimate future sums of investments by
applying simple interest.
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PART B: MULTIPLE CHOICE

1. (1 point)
What are pooled investment vehicles that aim to acquire controlling stakes in private and
public companies called?

A. public equity
B. private equity
C. venture capital
D. common equity

2. (1 point)
Which of the following is an advantage of private equity?

A. transparency

B. lack of liquidity
C. blind pool

D. limited availability

3. (1 point)

A unique feature of X is that it has long-term stored value.

Statement 1
What is X best referring to?

A. gold

B. commodity
C. unit trust

D. private funds

4. (1 point)
Which of the following is an advantage of venture capital?

A. displacing blame

B. structural reorganization
C. expensive

D. loss of control

5. (1 point)
Which of the following is the place where various commodities and derivatives are
traded?

capital exchange
currency exchange
commodities market
commodities exchange

oOow»
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6. (1 point)
Which of the following is a disadvantage of commaodity investment?

A. excessive volatility

B. facilitates diversification
C. inflation

D. liquidity

7. (1 point)
Which of following is TRUE how private equity capital works?

A. raising funds

B. reduced volatility

C. buying the portfolio
D. buy and hold strategy

8. (1 point)
Which of the following are the advantages of investing in real estate?

i. appreciation in value

ii. variations of income

iii. generation of steady cash flow
iv. provide a depreciation tax shield

A. iand ii

B. i, iii and iii

C. i, iiiand iv

D. i, ii, iiiand iv
9. (1 point)

Why present value is important concept for financial managers?

A. It determines the future value of an investment

B. It helps in assessing the current worth of an investment for decision-making
C. It calculates the average rate of return

D. It predicts market trends

10. (1 point)
What is annuity due?

A. An annuity with unequal payments

B. An annuity with payments at the end of each period

C. An annuity with payments at the beginning of each period
D. An annuity with deferred payments
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PART C: STRUCTURED

1. (10 points)

CONFIDENTIAL

Following information relating to bond issued by Sanjit Sdn Bhd is as follows:

Par Value RM 1000
Coupon Rate 10 %
Term to maturity 10 Years
Interest Rate 8 %

a. Compute

Table 1

The value of bond Sanjit Sdn Bhd if the coupon is paid annually and semi-

annually.

(6 points)

The current yield based on the market price annually and semi-annually as

calculated in (i).

(4 points)
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2. (10 points)

An alternative investment is a financial asset that does not fall into one of the conventional
investment categories. Conventional categories include stocks, bonds, and cash.
Alternative investments can include private equity or venture capital, hedge funds,
managed futures, art and antiques, commodities, and derivatives contracts. Real estate is
also often classified as an alternative investment. Explain FIVE (5) risks of alternative
investments.

(10 points)

3. (10 points)
a. You aspire to buy a camera worth RM2,500 in 4 years. With an annual interest rate of

2% in the savings account, how much should you deposit today to afford the camera
in 4 years?

(4 points)
b. You are considering two investment opportunities with different cash flows and using a

discount rate of 12%. Compute the present value of cash flows for each investment and
determine which investment has a higher present value.

Year INVESTMENT A INVESTMENT B
Cash Flow (RM) Cash Flow (RM)
1 800 900
2 1,000 950
3 1,200 1,100
Table 2

(6 points)

END OF QUESTION PAPER
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FORMULA LISTS:

v D

BP = [(%) P (PVIFA% nxm)] + [(Par Value) x (PVIF% nxm)]

m

Ccy = cpP
~ MP
(CRXPar Value) n (Par Value — MP)
_ m nxm
YT™ = Par Value + MP
2
(CRXPar Value) n (Call Price — MP)
YTC = m nxm

Call Price + MP
2

Value of asset — liabilities

Net Asset Value =
Number of outstanding unit trust

FV = PV (FVIF;y)

PV = FV (PVIF;,)

FVA = PMT (FVIFA;,)

PVA = PMT (PVIFA;,)

FVAD = PMT (FVIFA; ,)(1 + i)

PVAD = PMT (PVIFA;,,)(1 + i)
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